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If C.P = X1610.00 and S.P = X2960.00, then profit % =
(i) 83.85% (ii) 78.85% (iii)) 86.85% (iv) 80.85% (v) 88.85%

If C.P =X1540.00 and S.P = X1060.00, then loss % =
(i) 28.17% (ii) 26.17% (iii) 31.17% (iv) 34.17% (v) 36.17%

If C.P =X1860.00 and profit = 630.00, then profit % =
(i) 33.87% (ii) 38.87% (iii)) 36.87% (iv) 30.87% (v) 28.87%

If C.P =32100.00 and profit % = 109.52%, then S.P =
(i) X4400.00 (ii) X4270.00 (iii) X4520.00 (iv) X4280.00 (v) %X4670.00

If C.P =X1620.00 and profit % = 89.51%, then profit =
(i) X1630.00 (ii) X1400.00 (iii) X1450.00 (iv) X1720.00 (v) X1280.00

If C.P = X3890.00 and loss = X30.00, then loss % =
(i) 1.77% (i) 7.77% (iii) 2.77% (iv) 0.77% (v) 8.77%

If C.P =%2710.00 and loss % = 56.83%, then S.P =
(i) ¥1090.00 (ii) X1340.00 (iii) X940.00 (iv) X1320.00 (v) X1170.00

If C.P = X3000.00 and loss % = 64.33%, then loss =
(i) ¥1660.00 (ii) X1970.00 (iii) X1930.00 (iv) 2100.00 (v) X1880.00

If S.P = X4740.00 and profit = 1180.00, then profit % =
(i) 38.15% (ii) 36.15% (iii)) 30.15% (iv) 28.15% (v) 33.15%

If S.P =X2610.00 and profit % = 26.70%, then C.P =
(i) X2330.00 (ii) X2100.00 (iii)) X1880.00 (iv) X1990.00 (v) X2060.00

If S.P =%4310.00 and profit % = 205.67%, then profit =
(i) X2730.00 (ii) X2900.00 (iii)) %2780.00 (iv) %X3030.00 (v) %X2920.00

If S.P =X1730.00 and loss = X10.00, then loss % =
(i) 7.57% (ii) 2.57% (iii) 8.57% (iv) 1.57% (v) 0.57%

If S.P = X2070.00 and loss % = 45.09%, then C.P =
(i) X3590.00 (ii) X3940.00 (iii)) X3620.00 (iv) X3770.00

If S.P = X1600.00 and loss % = 53.22%, then loss =
(i) ¥1940.00 (ii) X1570.00 (iii) X2060.00 (iv) X1820.00 (v) X1660.00
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Find gain formula.

(i) S.p—=M.P (ii)) M.P—-C.P (iii)) S.P—C.P (iv) CP-S.P

Find loss formula.

(i) C.P—=S.P (i) M.P-C.P (iii) S.P=M.P (iv) S.P-C.P

Find gain percentage formula.

SP-CP S.P-C.P CP-SP C.P-S.P
(i) [- x1001% (ii) [- cp X1001% (iii) [- x1001% (iv) [ cp X1001%

Find loss percentage formula.

SP-CP C.P-SP SP-CP C.P-SP

(i) [ x100]% (i) [- x1001% (iii) [- x1001% (iv) [ — %x1001%
S.P C.P C.p

Find selling price formula.

100 + loss% B 100 100 + gain% ) 100
(i) XC.P (ii) C.P (iii) XC.P (iv)

X XC.P
100 100 + loss% 100 100 + gain%

Find cost price formula.

100 + loss% B 100 100 ) 100 + gain%
: XS.P (i) P (iii) - XS.P (iv) - XS.P

(i) - XS. -
100 100 + loss% 100 + gain% 100

Two articles of the same cost price are sold. If one article incurs a gain of x% and other a loss of x%, then overall
%loss is

(i) 0 (ii) )2( (iii) 2x (iv) 1

Two articles are sold at the same price. If one article incurs a gain of x% and other a loss of x%, then overall
%loss is

(i) e i =< iy 20 iv) x*
| I 1 - v



Assignment Key

1) (i) 2) (iii) 3) () 4) (i) 5) (iii) 6) (iv)
7) (v) 8) (iii) 9) (v) 10) (v) 11) (ii) 12) (v)
13) (iv) 14) (iv) 15) (iii) 16) (i) 17) (ii) 18) (iv)
19) (iii) 20) (iii) 21) (i) 22) (iv)
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